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MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per direction 

therein. 

SECTION-A 

Attempt any two questions from this section. 
2x20=40 

Answer them in about 500 words each. 

	

1. 	Explain different compensation criteria for 

judging a public policy action. 

	

2. 	Discuss the conditions under which a government 

needs to intervene in the market. 

	

3. 	What do you understand by 

(a) Natural monopoly 

(b) Voting by feet 

	

4. 	Write notes on : 

(a) Public goods vs. merit goods 

(b) Lindahl Pricing 
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SECTION-B 

Note : 	Attempt any five questions from this Section 

in about 300 words each : 	 5x12=60 

5. (a) Define public debt and distinguish from 

external debt. 

(b) Is public debt a burden of the nation ? 

Substantiate your answer. 

6. Explain (a) Laffer curve and (b) Optimal income 

taxation. 

7. Discuss the instruments and institutions of 

government intervention. 

8. Distinguish between political federalism and fiscal 

federalism. What are the gains from fiscal 

federalism ? 

9. How is public policy formulated ? How is 

coordination problem tackled in a federal polity ? 

10. What are the different types of grants and what 

purpose they serve ? 

11. What is the difference between a Pareto efficient 

tax structure and an optimal tax system ? 

12. Write notes on any two of the following : 

(a) Phenomenon of rent seeking 

(b) Tiebout hypothesis 

(c) Financial deregulation 

(d) Special interest groups and policy decision. 
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1. 	lob 	fwzrr4 4-rAichl 	tafaN 

0,41(92-► r 
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12. F-i4--ircir4.11 14*f 	ftuTuft 	: 

(a) c-1411.1-3-1-*9. 	c) :1-qT2.11 

(b) (Fiebout hypothesis) 

(c) f01cl 	 

(d) fd*cf 	<-A 	f9-1# 
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